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Copnep>xaHue

e [loiICHUTeNbHadA 3anncka.

e TUNOBblE KOHTPOJIbHbIE 3alaHUSA UKW UHbIE MaTepuabl 418 OLLEeHKN 3HAaHUN, YMEHUN, HaBbIKOB U (1un)
onbiTa AesATeNIbHOCTUY, XapaKTePU3YOWMX YPOBEHb CHOPMUPOBAHHOCTY KOMMNETEHLWIA.

e MeToaun4eckue maTepuarsbl, onpenensooLve npouenypy n Kputepum oLueHnBaHnsa ChopMmnpoBaHHOCTU
KOMMNETEHUNI NPU NPOBELEHNN MPOMEXYTOYHON aTTecTauunu.

1. MosscHuTEeNnbHaa 3anuckKa

Llenb NpoMeXxXyTO4YHOW aTTecTaunn - OLLeHUBaHUE MPOMEXXYTOUHbIX U OKOHYaTEJbHbIX pe3y/ibTaToB 0by4yeHns Mo
ancunnnavHe, obecrneymBaloWmMX OOCTMIKEHME MJaHMPYEeMbIX pe3ysibTaTOB OCBOEHUs obpa3oBaTenbHOW
nporpamMmei.

2. TunoBble KOHTPOJIbHbIE 3aA4aHUsA UM UHble MaTepuanbl O OULEHKU 3HAHUN, YMEHUHN,
HaBbIKOB M (MJIN) ONbiTa AEeATEeJSIbHOCTU, XapaKTepu3yloLWwuxX ypoBeHb C(pOpMUPOBAHHOCTH
KOMrMeTeHUuun

OuarHocTuyeckas KapTa
YK-4: CnocobeH ocyLecTBAATL Ae/1I0BYI0 KOMMYHUKALUIO B YCTHOW M NUCbMeHHON (hopMax Ha rocyaapcTBEHHOM

A3bike Poccunckon depgepaumm m MHOCTpaHHOM(bIX) A3bike(ax)
YK-4.3: NMpuMeHseT coBpeMeHHble KOMMYHUKAaTUBHbIE TEXHOJIOTUU AN aKafeMU4eCcKoro B3aMMoaeucTBus Ha

MHOCTPaHHOM(bIX) fA3blKe(ax)
Obyy4alowuiCca 3HaeT: akafeMn4YecKylo JIeKCUKy u 6asoBble rpaMMaTUYecKue Moaesiu Ha UHOCTPaAaHHOM A3biKe (no
COOTBETCTBYIOLLMM pa3aesniaM AUCLUNJINHBI).

(3cce)

Bbibepnte BCE HenpaBubHbIE FNarobl U3 AaHHOIO Cncka
advise, respect, become, talk, serve, set, increase, make, apply

(LLUa6noH oTBeTa)

become, set, make

(3cce)



Bbibepute BCE cka3zyemble B Present Simple Active nnn Passive
maintain, isn't sold, insures, will replace, is promoted, advertised, delivering, had increased, doesn't afford,
didn't offer, are produced, weren't loaded, won't expand, pays

(LUaGnoH oTBeTa)

maintain, isn't sold, insures, is promoted, doesn't afford, are produced, pays

(3cce)
Mepedpa3npyiTe cleayoLlmne CIOBOCOYETAHUSA, ynoTpebnaa npuTsKaTeNbHbI NageX CyLeCcTBUTENbHbIX.
Obpasel: the work of a bookkeeper — a bookkeeper's work

o the role of a central bank

o the annual income of a taxpayer
o the meeting of shareholders

(LUa6noH oTBeTa)

o a central bank's role
o a taxpayer's annual income
o shareholders' meeting

(3cce)
BbinuwunTe npunaraTesbHble B CPAaBHUTENLHOW CTENeHn CpaBHEHUS

If the company establishes a subsidiary in Russia, its goods will become cheaper and, therefore, more
competitive.

(LLlabnoH oTBeTa)

cheaper, more competitive.

(3cce)
PackpoliTe ckobkn, NOCTaBMB rnarosl B Hy>KHOE BpeMs.

| (to prepare) a report for my boss now. Don’t make noise!

(LLlabnoH oTBeTa)

| am preparing a report for my boss now. Don’t make noise!




(3cce)
PackpoliTe ckobkn, NOCTaBUB rnarosl B Hy>KHOe BpeMms.

| usually (to check) my mail in the morning

(LUaGnoH oTBeTa)

| usually check my mail in the morning.

(3cce)
PackpoiiTe ckobku, MOCTaBMB rNaroJsibl B Hy>KHOe BpeMs.

He (never / be) a good manager because he (be) so indecisive. (Future Simple / Present Simple)

(LUaGnoH oTBeTa)

He will never be a good manager because he is so indecisive.

(3cce)
PackpoliTe ckobkn, NOCTaBMB raarosl B Hy>KHOe BpeMms.

I (lose) all money that | (invest) in these shares. (Past Simple / Past Perfect)

(LUaGnoH oTBeTa)

I lost all money that | had invested in these shares.

(3cce)
PackpoliTe ckobku, NOCTaBMB rnarosl B Hy>KHOE BpeMms.

When she (check) the invoices, she (notice) a small mistake. (Past Continuous / Past Simple)

(LLlabnoH oTBeTa)

When she was checking the invoices, she noticed a small mistake.

(3cce)
Hangunte B 5TOM crincke cJ10B0, B KOTOpoM yaapeHue nanaet HE Ha nepBbI# cJior.

area, digital, vary, major, senior, discuss, chemistry, final, regularly

(LLlabnoH oTBeTa)

discuss



(3cce)
3anosiIHNTe NMponycKu npegioramMmu

The aim .... promotion is to interest customers .... the product.

(LLlabnoH oTBeTa)

of, in

(MHo>XecTBeHHbI! BbI6op / TONIbKO OO UH OTBET)

Yesterday | lots of telephone enquiries

a. (0%)

were answered

b. (0%)

answering

C. (100%)

answered

(MHo>xecTBeHHbIN BbIGOp / TONIBKO OAUH OTBET)

At present the government currency reserves.

a. (0%)

increase

b. (0%)

increased

C. (100%)

is increasing

d. (0%)

are increasing

(MHo>xecTBeHHbIN BbIGOp / TONIBKO OAUH OTBET)



Oil, one of ___ natural resources on the Earth, is an essential part of the world's economy.

a. (100%)

the most important

b. (0%)

less important

C. (0%)

more important

d. (0%)

the least important

(MHo>XecTBeHHbI! Bbibop / TONbKO OAUH OTBET)

According to many employers, older workers are ___ than younger ones.

a. (0%)

the most reliable

b. (100%)

more reliable

C. (0%)

the least reliable

d. (0%)

reliabler

(MHo>XecTBeHHbI! BbI6bop / TONbKO OAUH OTBET)

BbibepnTe NpaBUIbHO 3a4aHHbIN BOMPOC
a. (0%)

What should your company fulfill criteria?

b. (100%)

What criteria should your company fulfill?

C. (0%)



What criteria your company should fulfill?

d. (0%)

What criteria does your company should fulfill?

OT3bIB:

(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

According to the law you ... insure your car.

a. (0%)

needn't

b. (100%)

must

C. (0%)

may

d. (0%)

is to

(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

Electronic devices ... in great demand these days.

a. (0%)

were

b. (0%)

has been

C. (100%)



are

d. (0%)

(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

My wages are not very good, so | do a lot of ... .

a. (0%)

insurance

b. (100%)

overtime

C. (0%)

bills

d. (0%)

expenses

(MHo>XecTBeHHbIN BbIGOp / TONILKO OAUH OTBET)

As a customer relationship trainee you will have to customer complaints

a. (0%)

prepare

b. (0%)

serve

C. (100%)

investigate

(MHo>XecTBeHHbI! BbI6op / TONbKO OAUH OTBET)



He tried to how much he had spent on gasoline

a. (100%)

calculate

b. (0%)

quote

C. (0%)

dispatch

(MHo>XecTBeHHbI BbIOOp / TONIbKO OO MUH OTBET)

I am ... of cash, can | pay by credit card?

a. (100%)

short

b. (0%)

important

C. (0%)

no

d. (0%)

prospective

(MHo>XecTBeHHbI! BbIObop / TONbKO OAUH OTBET)

When you check in a hotel you are asked to ... the registration form.

a. (0%)

pay

b. (0%)

find out



C. (100%)

fill in

d. (0%)

set up

(MHo>XecTBeHHbI! BbIOop / TONbKO OAUH OTBET)

Unfortunately the stolen car wasn't ... .

a. (0%)

increased

b. (o%)

manufactured

C. (0%)

damaged

d. (0%)

competed

€. (100%)

insured

(MHo>XecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

| used to work as a salesperson, but | was not very successful, so | did not...much.

a. (0%)

mortgage

b. (0%)

overtime

C. (0%)



income

d. (100%)

earn

Oby4aloWMuNCA yMeeT: CTPOUTb MOHOJIOTMYECKHUe U Auasioruieckue BbiCKa3blBaHUA Ha aKkajeMuyeckue TeMbl (no
COOTBETCTBYIOLLMM pa3aesnaM AUCLUNJIIUHBI).

(3cce)
OTBeTbTe Ha BOMpocC

When did you enter the university?

(LLUaGnoH oTBeTa)

| entered the university in (rog noctynaerus cTygeHTa).

(3cce)
OTBeTbTe Ha BOMpocC

What faculty do you study at?

(LUaGnoH oTBeTa)

| study at the faculty of Economics.

(3cce)

lMocTaBbTe creayolmne NpPeaioXeHne B yKkazaHHoe BpeMs

| can’t translate this text without a dictionary. (npowegwee)

(LUaGnoH oTBeTa)

| couldn't translate this text without a dictionary.

(3cce)
3ameHnTe nNpeasIoXeHNEM B aKTUBHOM 3aJ10r€e:

The Internet is often used by people to work at home

(LLUaGnoH oTBeTa)



People often use the internet to work at home.

(3cce)
3ameHuTe npeasioxxeHnem B rnacCMBHOM 3aJiore:

Our University maintains close contacts with many railways of the country

(LLlabnoH oTBeTa)

Close contacts with many railways are maintained by our university.

(3cce)

3afanTe Takow BONpoOC, 4Tobbl HUXKeNpUBeaeHHOE NPenJsioXKeHNE MNoC/y>XU10 OTBETOM

- Where ?

- We left our car in the parking lot near the terminal.

(LUaGnoH oTBeTa)

Where did you leave the car?

(3cce)

3afainTe Takom BOMPOC, 4Tobbl HUXKeNpUBegeHHOE NPenJsioXKeHNE MOC/y)XKUJI0 OTBETOM

- How many ?

- We have ten branches in Spain.



(LLlabnoH oTBeTa)

How many branches do we have in Spain?

(3cce)

3ajaliTe Takoi BONpPOC, YTobbl HUXKeNpuBeaeHHoe NpeaioXKeHne NoC/yXKNI0 OTBETOM

- What ?

- The university trains specialists for the transport industry.

(LUa6noH oTBeTa)

What specialist does the university train?

(3cce)

CocTaBbTe NpeaJsioXKeHne, PacrosioXmB C/10Ba B NPaBUIbLHOM Nopsaake

the cheque; he; to sign; forgot.

(LLlabnoH oTBeTa)

He forgot to sign the cheque.

(3cce)

CocTaBbTe NpennoxeHne, pacnosioXXMse C/I0Ba B MPaBUJIbHOM Nopsake

are packed; and; the goods of your order; ready for despatch;

(LLUa6noH oTBeTa)



The goods of your order are packed and ready for despatch.

(3cce)

Bbibepute niobyio npogheccuio U onuwInTe, KAKUMHU KaveCTBaMM 00JDKeH obnagaTth YenoBek (3-5
npensoXXeHuni)

(LLUa6noH oTBeTa)
Obpasey,

A good doctor must be energetic because he has to work long shifts. He should also be kind and patient
because he works with sick people. Doctors ought to be attentive to details not to miss any symptoms and
persuasive to make people follow their recommendations.

(KopoTkuu otBeT)
Complete the second sentence so that it means the same as the first. Use no more than three words.
I've never had such a big tip from a customer.

This is the biggest tip from a customer that | had.

’

o 've

o 've ever
o have ever
o have

(KopoTkuiu otBeT)
Complete the second sentence so that it means the same as the first. Use no more than three words.
Anna, are you still paying back the money you borrowed?

Anna, finished paying back the money you borrowed yet?

OTBeT: have you

(KopoTtkum oTBeT)

Complete the second sentence so that it means the same as the first. Use no more than three words.
We can’t leave because Sam is still waiting to pay his bill.

Sam paid his bill yet, so we can’t leave.

o has not



o hasn't

O6yualowuiica BrageeT: HaBbiIkaMU YTEHUA, NOHUMAaHUA U NepeBoAa ayTEHTUYHbIX TEKCTOB HA UHOCTPAHHOM f3biKe,
cnocob6eH usBnekaTb HeO6XOAUMYIO TEKCTOBYIO MH(OpPMaLUIO, aHaAU3MPOBaTb M 0606LWaTL ee B Lenax

aKajeMU4eckKoro B3auMoaencTBUMA B YCTHOW M NUCbMeHHOW dbopmax
(3cce)

MpoynTaliTe TEKCT M OTBETbTE Ha BOMPOCHI

Helen Marshall (analyst)

If you join an investment bank as a graduate trainee, you can expect to work long hours. It's part of culture.
My day starts at about 8:00 AM when | check my e-mail and voicemail to see who wants information
immediately. It can continue until about 1:00 in the morning if you're working on a big merger. Fortunately, |
live only 20 minutes from the bank. | usually get my main work from my boss at the daily team meeting at
10:00 o'clock which can be comparative analysis of companies or completing a report and a loan application
for a big company.

Does Helen Marshall work long hours?

When does her day start?

Does she live far from work?

How often does she have team meetings at work?

HwnNE

(LLUla6noH oTBeTa)

Yes, she does.

Her working day starts at 8 am.

No, she doesn't.

She has daily team meetings at work.

HPwNE

(3cce)

I'IpOl-||/|Ta|7|Te TEKCT N onpenennTe, BepHbl 1N cneaylouine yteepxxanoeHusa. |/|CI'IpaBbTe HeBEpPHbIE

Helen Marshall (analyst)

As an analyst you need to be good at statistics because you spend a lot of the day working at the computer
on tables or spreadsheets. It's also important to be well organised and a good team player because you
depend on your colleagues to meet deadlines. It is a very exciting job because you learn very quickly and
they're good at giving you training. | have already done courses on how to value companies and on
accountancy. But there is not much chance of meeting with customers so you can feel isolated at times. After
a year | still love the excitement of the job and the salary is great. But if you're thinking of joining an
investment bank, make sure you're well motivated and good at computer skills before you start.



1. Helen Marshall needs computer skills for her job.
2. The job provides a lot of training.

3. She regularly meets customers.

4. Her job isn’t highly paid.

(LLUaGnoH oTBeTa)

True

True

False. She rarely meets customers.
False. Her job is highly paid.

P wnNE

(3cce)

MpoymnTarTe TEeKCT U HaWAUTE OLWNBKN B HUXKENPUBELEHHbIX YTBEPXKAEHUAX

Toshi : | was born in Hokkaido an island in the north of Japan. | was never very good at school, and | could not
go to university. So, my dad advised me to get a professional qualification. My first job was at a retail bank.
But | didn't like banking because | am really quite shy, and | don't want to talk to customers all day. | prefer
to work on a screen with figures. So, | joined an accountancy firm. The training took three years and was very
hard. | had to go to classes 3 evenings a week. Now | spend a lot of my time working with small companies,
managing all their financial accounts and preparing quarterly reports. It's very satisfying work, my clients are
always very happy if you do things well, | really feel at home in the firm and, most importantly, people
respect my work and my professional status. My family are very proud of me because | now have a good job
with a good career. One day | may even become a partner in the firm.

Toshi studied at the university.

His first job was at an accountancy firm.
The training took 4 years.

Toshi has become a partner in the firm.

HwnNE

(LUaGnoH oTBeTa)

Toshi didn't go to university.

His first job was at a retail bank.

The training took 3 years.

One day Toshi may become a partner in the firm.

P wnNE



(3cce)

npOHI/ITaIZTe TEKCT N OTBETbTE Ha BOMPOChHI

Toshi : | was born in Hokkaido an island in the north of Japan. | was never very good at school, and | could not
go to university. So, my dad advised me to get a professional qualification. My first job was at a retail bank.
But | didn't like banking because | am really quite shy, and | don't want to talk to customers all day. | prefer
to work on a screen with figures. So, | joined an accountancy firm. The training took three years and was very
hard. | had to go to classes 3 evenings a week. Now | spend a lot of my time working with small companies,
managing all their financial accounts and preparing quarterly reports. It's very satisfying work, my clients are
always very happy if you do things well, | really feel at home in the firm and, most importantly, people
respect my work and my professional status. My family are very proud of me because | now have a good job
with a good career. One day | may even become a partner in the firm.

Who advised Toshi to get a professional qualification?
Why didn’t he like his first job?

How often did he have classes during training?

What does he do at his present job?

HwnNE

(LLUla6noH oTBeTa)

Toshi’s father advised him to get a professional qualification.

He didn't like his first job because he was shy and didn’t want to talk to customers all day.

He had classes 3 evenings a week during training.

Toshi works with small companies, manages all their financial accounts and prepares quarterly reports

P wnNE

(3cce)

MpoynTaiTe OTPLIBOK MHTEPBbLIO U HAMAMUTE aHIIMACKME 3KBMUBAJIEHTLI Clefylolmx dpas

You worked as a financial journalist on a newspaper before. How is online journalism different?

Readers of websites expect you to react more quickly to events. This means you have to constantly monitor
what is happening. At the same time, you have to be accurate: that means checking financial data and



economic statistics to illustrate what you are writing about. Also, there are so many websites and so much
information already available to the public that you have to work much harder to get a story.

MOCTOSIHHO OTC/IEXMBaTb
ObITb TOYHbIM

rnpoeepka GUHaHCOBOW NH(OPMaLIUK
[OCTYMHO LWNPOKOMN 06LLLEeCTBEHHOCTH

P wNE

(LLUaGnoH oTBeTa)

constantly monitor

be accurate

checking financial data
avaliable to public

PwnNH

(3cce)

MpoynTarTe OTPLIBOK NHTEPBbLIO U HANAMNTE aHTIMACKUE SKBUBAJIEHTHI Clieaywmx ¢pas

- How is your department organised?

- We have three different teams responsible for different kinds of loans. One team is for consumer loans,
which include personal loans, educational loans, and loans to buy a car; a second team deals with
commercial loans for small businesses; and the third team is responsible for mortgage lending to clients who
want to buy a flat. | work for the commercial team for small businesses.

noTpebuTenbckue 3aviMbl
KpeauT Ha obpa3zoBaHue
Masible NpeanpusaTus
MNMNoTeyHoe KpeanToBaHNE

P wnNE

(LUa6noH oTBeTa)

consumer loans
education loans
small businesses
mortgage lending

PwnN




(3cce)

MpoynTaniTe OTPLIBOK MHTEPBbLIO N HANANTE aHTINNCKNE SKBUBANIEHTHI Clefyowmnx gpas
- What sort of responsibilities do you have today?

- I'm the assistant to the director in the Treasury Department. Our main task is to manage the cash flow
in the company. As we now have operations all over Eastern Europe, this is not so easy because we have
over 150 different bank accounts in 12 countries. That means we have to move money around the company
every day to meet the needs of different parts of the group.

MOMOLUHUK ANPEKTOpa
rHaHCOoBbIVi OTAEN
JI€HEXXHbIV MOTOK
baHKoBCKMe cyeTa
YAOB/I€TBOPUTL MNOTPEBHOCTU

vk wnNHE

(LLUla6noH oTBeTa)

assistant to the director
Treasury Department
cash flow

bank accounts

to meet the needs

Uk wnNE

(3cce)

MpoynTaliTe NMCbMO-Kanoby Ha 6AHKOBCKYIO YCNYTry U UCNpaBbTe OWNOKM B H/XKENPUBEAEHHbIX
npeanoXeHnsX.

Dear Sir or Madam,

I am writing to complain about the service in your local branch. Last week | visited the bank to pay the bill for
my Internet account. As usual | had to wait 15 minutes just to get some service from your counter staff. They
all seemed more interested in discussing their weekend plans than serving customers. | arranged to transfer
125 pounds to the Internet company’s account by direct transfer. However, this morning | received a letter
from the company telling me that the bill had still not been paid. As a result, they will stop my services
unless | pay the bill plus 30 pounds penalty charges. | would like to know what you propose to do to correct
the mistake made by your assistant. As a minimum, | think you should pay me for the charges | must now
pay to the Internet company because of your mistake.

I look forward to hearing from you.
Yours faithfully,

Lucy Galloway.



Lucy visited the bank branch last month.

The counter staff was very quick and efficient.

The bank transferred 125 pounds to the Internet company’s account.
The penalty charges are 125 pounds.

P wnNE

(LLUa6noH oTBeTa)

Lucy visited the bank branch last week.

The counter staff was very slow and inefficient.

The bank didn’t transfer 125 pounds to the Internet company’s account.
The penalty charges are 30 pounds.

HwnNE

(3cce)

ﬂpoanahTe MUHTEepBbIO U UCNipaBbTe ownbkmu B HM>)XernpuBegeHHbIX nNpenJyio>XKeHUnAX.

o Sergio, thank you for agreeing to this interview. How old are you?
o Um, I’'m fifty-one.

o And what is your profession?

o I'm an accountant.

Are you married?

Yes, | am.

Does your wife work?

Yes, luckily. She's a teacher.

Could you tell me about your last job? Who did you work for?

o | worked for a chemical company near Milan.

o How long did you work there?

o For fourteen years.

o How did you lose your job?

o The company was taken over by the Swedish firm and it was made redundant.
o So, how long have you been unemployed?

o For about six months.

(e]

o

o

o

o

. Sergio worked as a teacher.

. Sergio is 53 and married.

. His wife works for a chemical company in Milan.

. Sergio has been unemployed for 14 years.

. Sergio quitted his last job because he didn't like it.

u b W N -

(LUa6noH oTBeTa)



Sergio worked as an accountant.

Sergio is 51 and married.

His wife works as a teacher.

Sergio has been unemployed for 6 months.
Sergio was made redundunt.

vk wnN e

(3cce)

I'IpowlTa|7|Te TEKCT N OTBETbTE Ha BOMPOChHI

Roger Penn is a deputy manager. He works part-time for Lloyds TSB. He took a 50% cut in salary but now he
can be free for his second job - he is a rugby referee. ‘I can leave work at 1. 00 and be on the rugby pitch by
2.00’, he says. He can also travel more without worrying about doing a full day’s work next day.

Does Roger work full-time or part-time for Lloyds TSB?
Did he take a 50% or 45% cut in salary?

Is he a tennis or rugby referee?

Is Roger happy or sad to combine two jobs?

PwnNH

(LUa6noH oTBeTa)

Roger works part-time for Lloyds TSB.
He took a 50% cut in salary.

He is a rugby referee.

Roger is happy to combine two jobs.

P wnNH

(3cce)

I'IpowlTa|7|Te TEKCT N NPoOoJIXNTE NpennoxXeHnsd, npneegeHHble HNXXe

Daniella: | was brought up near Naples and went to Business School in Rome. But even at school | began to
dream of going to London. | really wanted to travel and be independent. So | decided to go to London and try
and join an investment bank. | didn't know much English then, but | came and studied for six months in the
UK then | began to apply for jobs.

Daniella studied at a business school in...
Daniella dreamt of ...

Daniella wanted to join...

She studied English for...

HPwnNE



(LLlabnoH oTBeTa)

Daniella studied at a business school in Rome.
Daniella dreamt of going to London.

Daniella wanted to join an investment bank.
She studied English for 6 months.

P wnNHE

YK-4.4: NpuMeHsaeT COBpeMeHHble KOMMYHUKaTUBHbIE TeXHOJIOrumM ans npocbeccuouanbuoro B3aMMOAEeNCTBUA Ha

MHOCTPaHHOM(bIX) sA3blke(ax)
Obyyalowuicsa 3HaeT: NnpodecCuoHaNIbHYIO IEKCUKY U Ba3oBble rpaMMaTUYECKME MOAEeNM Ha MHOCTPaHHOM fAi3blKe

(I10 COOTBEeTCTBYylOLLMM pa3pesiaM AMCI.I.MHIWIHI:I).
(3cce)
MepenuwnTe NpeanoXKeHne, NOCTaBMB r1arofbl B yKasaHHY0 BUAOBPEMEHHYO hopMy

As technologies (become) more complex, the demand for well-educated, qualified specialists (grow)
nowadays. (Present Continuous)

(LUaGnoH oTBeTa)

As technologies are becoming more complex, the demand for well-educated, qualified specialists is growing
nowadays.

(3cce)
MepenuwnTe NpeanoxeHne, NOCTaBMB M1arojibl B yKa3aHHYI0 BUAOBPEMEHHYIO OpMY

The government (hope) its fiscal policy (help) to reduce inflation. (Present Simple / Future Simple)

(LUaGnoH oTBeTa)

The government hopes its fiscal policy will help to reduce inflation.

(3cce)
MepenuwnTe NpeanoXxeHne, NOCTaBMB r1arojibl B yKa3aHHYI0 BUAOBPEMEHHYIO hOpMY

Our firm (hire) 200 new employees after it (open) some branches in Boston and Denver. (Past Simple / Past
Perfect)

(LUaGnoH oTBeTa)



Our firm hired 200 new employees after it had opened some branches in Boston and Denver.

(3cce)

MepenuwnTe NpeanoXxeHne, NOCTaBMB M1arosibl B yKa3aHHY BUAOBPEMEHHYIO JOPMY CTpaAaTesbHOro
3ajora

The contract (sign) after the terms of payment and delivery (discuss). (Past Simple / Past Perfect)

(LLUaGnoH oTBeTa)

The contract was signed after the terms of payment and delivery had been discussed.

(3cce)

BbinuiumTe c/1oBa C OCHOBHbLIM Y 4apPeHNEM Ha NepBblv CJ10r:
Purchasing, technology, machinery, industry, agricultural, product, manufacture

(LUaGnoH oTBeTa)

Purchasing, industry, product

(3cce)

3anosIHUTE NPONYyCKN NpenJsioraMm

To start his own business, Mr. Johnson had to borrow ... the bank a large sum of money ...high interest

(LUaGnoH oTBeTa)

from, at

(3cce)

3anonHuTe nponyckn npegnoramMmu

... the terms ... the contract, the equipment will be paid for ... cash ... delivery.

(LLUla6noH oTBeTa)

Under, of, by, on




(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

Next year, our company ___ to launch a sales campaign in Japan.

a. (0%)

will have to

b. (o%)

was able

C. (0%)

doesn't have to

d. (100%)

will be able

(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

If the bank is closed, you ___ withdraw some money from your account using an ATM.

a. (100%)

are able to

b. (0%)

were

C. (0%)

mustn't

d. (0%)

is allowed to

(MHo>xecTBeHHbIN BbIGOp / TONIBKO OAUH OTBET)

The sales manager this idea at yesterday's meeting.

a. (0%)

didn't supported



b. (o%)

not supported

C. (100%)

didn't support

d. (0%)

is not supported

(MHoO>XXecTBeHHbIN BbIOOP)

BbibepuTe TOJIbKO Te rpynnbl CNOB, rAe NnoAYepKHyThle 6yKBbl Uy 6yKBOCOYETaHUS AalOT OAMHAKOBBIN 3BYK
a. (25%)

insure, ship, promotion

b. (25%)

cheap, compete, succeed

C. (25%)

research, service, term

d. (0%)

wholesale, loan, cover

€. (0%)

duty, suffer, currency

f. (25%)

protect, customs, cheque

(MHo>XecTBeHHbI! BbI6op / TONbKO OAUH OTBET)

Banks and insurance companies are financial ... .

a. (100%)

institutions



b. (o%)

economics

C. (0%)

means

d. (0%)

level

(MHo>xecTBeHHbIN BbiGOp / TONIBKO OAMH OTBET)

. ... are proportional amounts of profit usually paid quarterly to stockholders.

a. (100%)

dividends

b. (0%)

statements

C. (0%)

bonds

d. (0%)

shares of stock

(MHo>XXecTBeHHbIN BbIOOP)

At the beginning of the year, inflation increased from 3,5 to 13%

a. (0%)

steadily

b. (0%)

slightly

C. (100%)

sharply




(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

Over the last month oil prices wildly between $95 and $124

a. (0%)

plunged

b. (100%)

fluctuated

C. (0%)

levelled off

d. (0%)

rocketed

(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

The fear is the economy will fall into next year

a. (100%)

recession

b. (0%)

upturn

C. (0%)

boom

d. (0%)

recovery

(MHo>xecTBeHHbIN BbIGOp / TONIBKO OAUH OTBET)

Light assembly plants like produce goods for the fashion industry

a. (100%)

clothing

b. (0%)



agriculture

C. (0%)

mining

d. (0%)

oil exploration

(MHo>XecTBeHHbI! BbI6bop / TONbKO OAUH OTBET)

The sector provides support activities for customers or other industries.

a. (100%)

service

b. (0%)

secondary

C. (0%)

primary

(MHo>XXecTBeHHbIN BbiIOOp / TONbKO OAUH OTBET)

In Turkey the primary sector is made up of which produces basic foods like fruits, vegetables and
wheat

a. (0%)

food processing

b. (0%)

retailing

C. (0%)

mining

d. (100%)

agriculture




(MHo>XXecTBeHHbIN BbiIOOp / TONBKO OAUH OTBET)

You can use a to save money and earn interest on it

a. (0%)

mortgage

b. (0%)

exchange rate

C. (100%)

deposit account

Obyy4aloWMUCca yMeeT: CTPOUTb MOHOJIOFTMYECcKUe U auasioruieckue BbicCKasbiBaHUA Ha npodeccuoHasnbHble TeMbl (Mo
COOTBETCTBYIOLLMM pa3penaM AUCLUNIIUHBI).

(3cce)
OTBeTbTe Ha BOMPOC

How much interest do people pay on bank loans ?

(LLUaGnoH oTBeTa)

The average interest rate is 18-25%

(3cce)
OTBeTbTe Ha BOMpocC

What is happening to prices in the shops in your country?

(LUaGnoH oTBeTa)

The prices in shops are constantly growing.

(3cce)

3aMeHuTe NnpenJsioXdKeHneM B akTUBHOM 3aJsiore

Payment terms were indicated in the contract.

(LLlabnoH oTBeTa)



The contract indicated payment terms.

(3cce)

3amMeHuTe npegnoXxeHmem B akTUBHOM 3aJiore

Defective goods will be replaced by the supplier.

(LLUaGnoH oTBeTa)

The supplier will replace defective goods.

(3cce)

3amMeHuTe npegnoXxeHmem B NaCCMBHOM 3aJiore

In the past decade the country has restructured the economy.

(LUa6noH oTBeTa)

In the past decade the country's economy has been restructured.

(3cce)

3ameHuTe npegnoXxeHmem B akTUBHOM 3aJiore

Russian banking system is dominated by the state-controlled Sberbank.

(LUaGnoH oTBeTa)

The state-controlled Sberbank dominates Russian banking system.




(3cce)

3ajaiiTe Takoi BONPOC, YTobbl HUXXeNpuBeaeHHoe NpeasioXKeHne NoC/yXKNI0 OTBETOM

- How much ?

- Dr. Alison charges $60 for a consultation.

(LLlabnoH oTBeTa)

How much does Dr. Alison charge for a consultation?

(3cce)

3apanTte Takom BOMpoC, 4TOObI HxenpmeegeHHoe npennoXxXeHme nocny>Xmiao oTeeTomMm

- When ?

- The bikes will be dispatched to the trade fair in two days.

(LUa6noH oTBeTa)

When will the bikes be dispatched to the trade fair ?

(3cce)

Complete the following sentence according to the model:

Model: An ambassador is a person who ... - An ambassador is a person who represents is country in another
country.

A borrower is a person....

(LLUab6noH oTBeTa)

A borrower is a person who borrows money from the bank.




(3cce)
CocTaBbTe NpeaoXXeHne, pacrnosioXK1B C/I0Ba B MpaBUJIbHOM Mopsaake

are published; the latest quotations; in all periodicals; on the foreign exchange market.

(LUaGnoH oTBeTa)

The latest quotations on the foreign exchange market are published in all periodicals.

(3cce)
CocTaBbTe NpeaioXXeHne, pacrnosioXK1B C/I0Ba B MpaBUJIbHOM Mopsaake

to Chicago; Jim; the cost of travelling; calculated.

(LUaGnoH oTBeTa)

Jim calculated the cost of travelling to Chicago.

06yqa|ou.|.m'1c;| BNnapgeeTt: HaBblKkaMM YTe€HUA, NTOHMMaHUA U NepeBoAa AYTEHTUYHbLIX TEKCTOB HAa MHOCTPaAaHHOM A3biKe,
cnocobeH usBnekaTb HeOﬁXOAMMyIO TEeKCTOBYIO qu)opMau.mo, aHaJIu3MpoBaThb " o06o6wWwaTh ee B uenax

npodeccMoHanbHOro B3aMMOAeNCTBUA B YCTHOW U NUCbMeHHOU popMax
(3cce)

I'Ip0l-||/|Ta|7|Te cnepywuwme npennoXXeHma n HangnTe CUHOHUMBbI K cnegyrowmnm cioBaM

o This is secret information which could be of great value to our competitors.

o They hope that with their new engine design they will be able to compete with the larger
manufacturers.

o The project of exporting bikes was suggested by Sales manager and supported by all shareholders of
the company.

1. rival =
2. offer =
3. producer =
4. back up =

(LUa6noH oTBeTa)

rival = competitor

offer = suggest
producer = manifacturer
back up = support

P wnNHE




(3cce)

MpoynTanTe crenyoLmne NPeaioXeHns N HananTe CUHOHUMBI K C/IedyoLM C/10BaM

o It's important to research the market before producing a new product and putting it on sale.

o All the goods we are going to offer our potential buyers are of high quality.

o The firm which supplied us with of spare parts to our machinery have closed their business.

o If any of our products are out-of-order let us know immediately and we’ll replace them with new ones
as quickly as possible.

prospective =
investigate =
defective=
provide =
equipment =

vk wnNHE

(LLlabnoH oTBeTa)

prospective = potential
investigate = research
defective = out-of-order
. provide = supply

. equipment = machinery

U wN e

(3cce)

I'IpowlTa|7|Te cnepywoume npennoXXeHma n HananTe CUHOHUMBI K cnegyrowmnMm cnoeam

o

I can charge a price lower than anyone else.

Interest rate is a sum paid by the borrower for the use of the money lent.

Mr.Smith owns a shop that deals in consumer goods of all sorts.

The chief book-keeper signs all the contracts that have been concluded by the enterprise.
Both parties are free to withdraw from the bargain before the contracts have been signed.
accountant =

. transaction =

amount =

. quote =

. trade =

o o o

o

(LUaGnoH oTBeTa)



accountant = book-keeper
transaction = bargain
amount = sum

quote = charge

trade = deal in

vk wnN e

(3cce)

MpoynTarTe cnepyowmii TEKCT U 03arfiaBbTe ero

Most economists agree that there are no examples of a completely free market or a completely controlled
economy in the world today. Every country operates a mixture of the two systems. Even in the freest
economies like the USA, there is some government control; even in the strictest planned economy, there is
some free enterprise. Economies mix government control and free market in different ways. One way is to
let privately owned businesses exist alongside state run industries. The economy becomes divided between
the state sector and the private sector.

(LLlabnoH oTBeTa)

Mixed economy/ Types of economies

(3cce)
MpoynTanTe TEKCT N HANANTE aHIINNCKNE SKBUBANEHTbI CleayoWwmnx gpas.

Companies also take into account their profit. They will usually allow a margin of at least 10 percent. So
when a company quotes a price for a model, they have built into the price their total cost and profit margin.

npmbblsib

pasHuua Mmexay cebecToMMoCTbIO N NPoaa>KHOW LieHOV
Ha3HayaTb LeHy

obLyasi CTOUMOCTb

PwnNHE

(LUaGnoH oTBeTa)

1. profit
2. margin/profit margin
3. quote a price/ quotes a price



4. total cost

(3cce)
MpoynTanTe TEKCT N HaNOWUTe aHIIMNCKNE 3KBUBAJIEHThI cregytowmx gpas.

There are many factors which affect the price of goods, for example the law of demand and supply. If a
product is in demand and not many firms can supply the product, then the company can quote a higher unit
price. On the other hand, making goods in large quantities is comparatively cheaper than producing goods in
small quantities.

1. cnpoc v npegsoxeHue
2. WTYy4YHas LUeHa
3. 60/bLLIOE KO/INHECTBO

(LLlabnoH oTBeTa)

1. demand and supply
2. unit price
3. large quantity

(3cce)
MpoynTanTe TEKCT N HaNOWUTe aHIIMNCKNE 3KBUBAJIEHThI Cregytowmx gpas.
Exporting brings foreign currency into the country, so governments encourage export traders by giving

assistance and incentives to exporters. Often companies borrow money from banks to finance exporting.

1. uHocTpaHHas BastloTa
2. CTUMY/IbI
3. bpaTb B3arimMbl

(LUaG6noH oTBeTa)

1. foreign currency
2. incentives
3. borrow

(3cce)

MpoynTaiTe hparMeHT NHTEPBLIO U ONpeaennTe, BEpHbI I Clieayiolne yTBePXKAeHNS.



Interviewer: Before you got your job did you study business or finance at college?

Jilly: No, actually, | didn't. In fact, when | applied for my first job, | really had no experience in finance. | just
looked on the Internet to see which finance jobs paid the best. | saw that as a bond trader you could earn
£100,000 after only two years in the job. So | decided that was the job for me!

Interviewer: What skills and qualities were they looking for?

Jilly: 1 hope | impressed them. You definitely need good personal skills in this job because everything depends
on contacts. You have to be good on the telephone so people want to call you with a deal. But it's not only in
the office. If you want to make a lot of money, you also have to socialize and network with clients at night.
That means lots of eating in restaurants. That's where you hear the best news. You're always competing with
other banks for the same business so you have to keep the clients very happy. It's fun, but hard work.

1. Jilly works as a bond trader.

2. Jilly had some experience in finance when she applied for her first job.
3. Jilly chose her first job because of the salary.

4. Deals are concluded only in the office.

5. Jilly works hard to keep the clients happy.

(LLlabnoH oTBeTa)

That's true/ True

That's false. Jilly had no experience in finance when she applied for her first job
That's true/ True

That's false. Deals are concluded not only in the office

That's true/ True

vk wnNE

(3cce)
MpoynTanTe TEKCT N HaNOUTE OTBETHLI Ha CeayloLme BONpPoChI

The share of industry in GDP is 11 times more than that of agriculture. Manufacturing plays a vital role in
British economy. It employs more than one-fifth of all workers. Britain excels in high-tech industries
(pharmaceuticals, chemical, electronics and aerospace) where British companies are among the world's most
successful. One of the traditional English industries, the manufacture of textiles, however, is a shadow of its
former self . In the 19th century, textile goods were Britain's chief export. By the 1930s, competition from
countries with cheap labor such as Japan, China and India had created problems. The textile industry
declined rapidly and many mills were closed.

Does agriculture play a vital role for the British economy?
What industries does Britain excel in?

What was Britain's chief export in thel9th century?

Why did the textile industry decline?

HwnNE

(LUaGnoH oTBeTa)



No, it doesn't. Manufacturing plays a vital role in British economy.

Britain excels in high-tech industries (pharmaceuticals, chemical, electronics and aerospace)

In the 19th century, textile goods were Britain's chief export.

The textile industry declined rapidly because it faced competition from countries with cheap labor such
as Japan, China and India.

P wnNE

(3cce)
MpoynTanTe TEKCT 1 UCNpaBbTe OWNOKN B CIeQYIOLLNX YTBEPKAEHUSX.

Industry is the backbone of the country's economy. The engineering, chemical as well as iron and steel
industries are the dominating branches of economy. Germany is the fourth largest producer of steel in the
world. It maintains a competitive advantage on the world market due to its technologically advanced plants
and the latest production methods. With the drop in the demand for steel in the 1980s and the rise of less
expensive Japanese and Korean steel, however, the German iron and steel industry is not as prosperous as it
was in the past.

. Agriculture is the backbone of the German economy.

. Germany is the third largest producer of steel in the world.
. In 1980 there was an increase in the demand for steel.

. German iron and steel industry is quite prosperous.

A W N

(LUaGnoH oTBeTa)

Industry is the backbone of the German economy.

Germany is the fourth largest producer of steel in the world.

In 1980 there was a drop in the demand for steel.

German iron and steel industry is not as prosperous as it was in the past.

P wnNE

(3cce)

I'IpowlTa|7|Te TEeKCT N OTBETbTE Ha cyiegytouimne sonpochl. Ecnn oTBeT OTpI/ILI,aTeJ'IbeIVI, banTte KOMMeHTapMVI.

Italy is a country with the mixed economy. Private sector predominates but there are also state monopolies.
For example, railroads, the postal system, sales of tobacco and salt, as well as the generation and
distribution of electricity are completely controlled by the government. Italy has a smaller number of global
multinational corporations than other economies of comparable size, but there is a large number of small and
medium-sized enterprises, which are the backbone of the Italian industry.

1. Is Italy a country with the free market economy?
2. Are there state monopolies in the Italian economy?
3. Are global multinational corporations the backbone of the Italian industry?

(LLlabnoH oTBeTa)



1. No, itisn't. Italy is a country with the mixed economy.

2. Yes, there are.

3. No, they aren't. A large number of small and medium-sized enterprises are the backbone of the Italian
industry.

(3cce)
MpoynTanTe TEKCT N UCNpaBbTe OWNOKN B C/ieQyOLWNX YTBEPK AEHUSX.

Switzerland is a country with a highly developed mixed economy, which is based on manufacturing and
service sector. Switzerland's transformation from an agrarian country into an industrial one began during the
late 19th century. Three basic factors contributed to rapid development of the country's economy: (a) a large
amount of inexpensive hydroelectric power; (b) a central position within Europe; and (c) skilled labor force.
Successful economic development was also helped by the fact that the country was not involved in any wars
for more than two centuries and a half.

1. Switzerland's economy is based on agriculture.

2. Switzerland's transformation into an industrial country began in early 19th century.

3. Large amount of expensive hydroelectric power contributed to rapid development of the country's
economy.

4. Switzerland was involved in wars over the past century.

(LUaGnoH oTBeTa)

1. Switzerland's economy is based on manufacturing and service sector.

2. Switzerland's transformation into an industrial country began in latel9th century.

3. Large amount of inexpensive hydroelectric power contributed to rapid development of the country's
economy.

4. Switzerland was not involved in wars over the past century.

(3cce)

MpoynTarTe TeKCT 1 BbIMULINTE TEPMUHBLI, COOTBETCTBYIOLLME CelyloLUM onpeaeneHnsm.

Economists distinguish between microeconomics and macroeconomics. Microeconomics deals with people,
like you and me, and private businesses. It looks at the economic decisions people make every day. It
examines how families manage their household budgets. Microeconomics also deals with companies - small
or large - and how they run their business. Macroeconomics, on the other hand, looks at the economy of a
country and of the whole world. Any economist will tell you, though, that microeconomics and
macroeconomics are closely related. All of our daily microeconomic decisions have an effect on the wider
world around us.

1. the branch of economics that studies the behavior of individual economic units such as companies,
industries, or households
2. the amount of money that a person, organization or country has available to spend on it



3. a company that sells goods or services
4. the branch of economics that studies the economic systems of whole countries or large regions

(LUaGnoH oTBeTa)

microeconomics
budget

business
macroeconomics

P wnNE

(3cce)

I'IpowlTa|7|Te TEKCT U BbIMNLWINTE TEPMUHbI, COOTBETCTBYHOLWNME CnegylowmMm onpegeneHnam.

Many millions of people enjoy a quality of life today that previous generations could not have dreamed of.
Home ownership, private cars and holidays are now standard for most families in industrialized countries.

And at the same time, billions of people in other countries live without even clean drinking water. How can
this be? The answer is that the fortunate few live in countries with sustained economic growth.

An economy is growing when the gross national product is increasing year after year. When economists
calculate economic growth, though, they must take into account the effects of inflation. For example,
imagine that the gross national product of a country increased from $500 billion to $510 billion. That's an
increase of 2% in output. Very impressive! However, if the rate of inflation was 2%, then there has been no
real growth at all.

1. the total value of goods produced and services provided by a country during one year
2. the rate at which prices increase over time, causing the value of money to fall
3. the general well being of individuals and societies

(LLUaGnoH oTBeTa)

1. gross national product
2. inflation
3. quality of life

(3cce)

MpounTanTe TEKCT 1 BbINULINTE TEPMUHbI, COOTBETCTBYIOLLNE C/IEAYIOLWMM OnpeneeHnsiM.



Open economies are also good for consumers. If the economy imports goods or services from abroad, there
will be a greater variety of goods available locally. It should help to keep prices down and quality high. This is
because local companies will have to compete with foreign companies, and more competition will mean
better quality and lower prices. Economists describe imports and exports of material products as visible
because you can really see and touch them. Examples of visible exports and imports are food stuffs, furniture
and electronic equipment. However, there are also invisible imports and exports. These are mainly services,
but can include all sorts of things. Examples of invisible exports and imports include banking services,
insurance products, educational courses and tourism.

1. a person who purchases goods and services for personal use
2. goods and services, which a country buys from abroad
3. goods, rather than services, sent to other countries to be sold

(LLUla6noH oTBeTa)

1. consumer
2. import
3. visible export

(3cce)

I'IpquTa|7|Te TEeKCT U BbIMNLWINTE TEPMUHbI, COOTBETCTBYOLWINME CegylowmnM onpegeneHnsam.

Competition exists in a free market because, theoretically, anyone can be a producer. This means that
companies have to compete with each other for a share of the market. Competition is good for consumers
because it helps to control prices and quality. If customers aren't happy with a product or service, or if they
can't afford it, they will go to a competitor. Technology exists in a free market because producers need ways
to reduce their costs. They cannot buy cheaper raw materials. Instead, they must make better use of time
and labour. Technology is the use of tools and machines to do jobs in a better way. This helps companies
produce more goods in less time and with less effort. The result: more profit.

1. a person who buys goods or services from a shop or business

2. an economic system in which prices are determined by unlimited competition between privately
owned businesses

3. the activities of companies that are trying to be more successful than others

4. the money that you make in business or by selling things, especially after paying the costs involved

(LLla6noH oTBeTa)



customer/consumer
free market
competition

profit

P wnNE

(3cce)
Mpo4ynTanTe TEKCT N HANOUTE aHIIMNCKNE IKBMBAJIEHTHI caegyowmnx gpas.

When a company starts to sell goods in a new market, they often do some market research or a preliminary
study to see if the project is feasible. They study the market potential or do a feasibility study to see if they
will make money by selling in the new market.

1. nccnenoBaHne KOHbIOHKTYPbI PbIHKA
2. oCcyLecTBUMbIV
3. TEeXHMKO-3KOHOMUMYEeCcKoe 060CHOBaHME Lies1ecoobpa3HOCTM NMPOeKTa

(LLlabnoH oTBeTa)

1. market research
2. feasible
3. feasibility study

(3cce)

3anoJsiHuTe NPoNyCcKMU B NpenJsioXKeHusax, o6pasoBaB HY>XKHYIO 4acCTb pe4u OT csioBa " compete "

1. Our company’s main objective is to keep ahead of the ...
2. In the market place businesses ... with each other.
3. I'm sure our new product will be in great demand because we offer ... prices and high quality.

(LUaGnoH oTBeTa)

1. competitors
2. compete



3. competitive

(3cce)

3anonHuMTe NPOoNyCKMU B NpeaJyiodkeHnAX, obpa3oBaB HY>)XHYIO 4acTb peuu oT csoBa " employ ". B
HEeKOTOpbIX NpeAJsioKeHUAX BaM noTpebyetcsa nobaBaTb oTpULaATEsIbHYIO MPUCTABKY

... is almost 8% in this country.

The ... are entitled to various social security payments.

The boss informed his ... that they would receive a 5% pay increase.
Her ... gets very angry if she uses the phone too much.

I’'m looking for temporary ... during the summer holidays.

Uk wnNE

(LUaGnoH oTBeTa)

unemployment
unemployed
employees
employer
employment

vk wnNE

3. MeToauyeckue MaTepuassbl, onpeaensiolime nNpoueaypy U KpuTepum oueHUBaHusA
cchOpMUPOBAHHOCTU KOMMETEHL U NPU NPOBeAEHUU NPOMEXKYTOYHON aTTecTauum

Kputepumn ¢bopMUpoOBaHNA OLLEHOK NO OTBETaM Ha BOMPOChHI, BbINOJIHEHUIO TECTOBbIX 3a4aHUN

- OUEeHKa <«OTJINYHO» BbiCTaBaseTcs oby4alolemycs, ecqin KOAMYeCTBO MpPaBUJIbHbIX OTBETOB Ha BOMPOCHI
coctaBngeT 100 - 90% o1 obwero o6bEéma 3agaHHbIX BOMPOCOB;

- OUEeHKa «XOpoLwo>» BbiCTaBJIAETCA o6yqarou.|,eMyc51, ec/in KoNn4ecTBO MNMpaBUJIbHbIX OTBETOB Ha BOMPOCHI - 89 -
76% oT obuwero o6b€Ma 3a4aHHbIX BOMPOCOB;

- OlLleHKa «Yy[OoBJIeTBOPUTENIbHO>» BbLICTaBAsSETCSA 00yvalolleMycsl, ecii KOJMYeCTBO MpaBU/ibHbIX OTBETOB Ha
TecToBble BONpPoCkl -75-60 % oT obuiero o6bEMa 3a4aHHbIX BOMPOCOB;

- OUeHKa «HeynoBJIeTBOPUTEeNIbHO» BbICTaBJIAETCA O6y‘-la}OLLI,eMyC$|, ecnn KoJin4ecCcTBO MpaBWJIbHbIX OTBETOB -
MeHee 60% oT obuiero o6bEMa 3aaHHbIX BONPOCOB.

Kputepun ¢opMMpoBaHUA OLEHOK MO pe3yJsibTaTaM BbIMOJIHEHUSA 3aAaHUN
«OTAMYHO/3a4TEHO» - CTABUTCA 3a PaboTy, BbINOJIHEHHYIO MOMHOCTbIO 63 oWnboK N Hego4eToB.

«Xopolwlo/3a4TeHo» - CTaBUTCA 3a paboTy, BbIMOJIHEHHYIO MOJIHOCTbIO, HO MPW HaN4YMK B Hel He Bonee ogHow
Herpybom owmnbkm n ogHoro HepoveTa, He 6osiee Tpex HeJO4YeTOB.

«Y BOBJIETBOPUTENbHO/3a4TEHO» - CTAaBUTCS 3a paboTy, ecnn 06yHaloLWMNCS NPaBUSIbHO BbIMNOJHUA He MeHee 2/3
BCen paboTbl unan gonyctun He 6onee oaHom rpybon owmnbkn n OByx Hepo4veToB, He 6onee ogHon rpybon n ogHowm
Herpy6omn ownbkun, He 6onee Tpex Herpybbix ownbok, oaHon Herpybol ownbKN N ABYX HELOYETOB.

«HeypnoBneTBopuTenbHO/He 3a4YTeHO» - CTaBUTCA 3a paboTy, ecan 4mcio owmnbok U HeOo4YeTOB MPEBLICKIIO
HOPMY AJ151 OLEHKM «Y[I0BJIeTBOPUTESIbHO» UAWN NPaBUJIbHO BLINOJIHEHO MeHee 2/3 Bcelt paboThl.

Bunabl olunbok:



- rpybbie oWnMbKN: HE3HaHWEe OCHOBHbIX MOHSTUU, MpPaBuJl, HOPM; HE3HAHUE MPUEMOB pPeLUEeHUs 3ahady; OLNbKM,
roka3sblBaroLmne HernpaBuibHOE NOHUMaHUe yC0BUS MPEATI0OKEHHOrO 3aaHusl.

- Herpybbie olwnbKu: HETOYHOCTU (hOPMYIMPOBOK, OMpPeAeeHNA; HepaLnoHalbHbIM BbI6Op Xo04a PeLueHUS.

- He[o4eTbl: HepauuoHaslbHbl€ [PUEeMbl BbIMNOJIHEHUS 3afaHUs; OTAE/bHbIE [OrPEeLIHOCTN B (HOPMYINPOBKE
BbIBOIOB; HEOPEXKHOE BbINOJIHEHNE 3a4aHMS.

OueHoYHble MaTepuralbl CreHepupoBaHbl C UCMOJSIb30BaHNeM NHCTpyMeHTapua IMOC CaMlYMC. DNeKTPOHHbIA KypC pasMeLleH no

CCmee:"VlHOCTpaHHbIVI a3blK (M9 AH) (38.03.01)".



https://lms.samgups.ru/course/view.php?id=2247

